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Bl E8 AF_AD c94 462539.ntm 1. He _ his own death last year
to collect on a $1 million insurance policy. A. decorated B. disguised
C. faked D. concealed 2. The calculations do not take into account
any ___inthe share price. A. surge B. surplus C. flush D. fluctuation
3. Thereis, he said, a lack of a(n)__ national transport policy. A.
embedded B. integrated C. embraced D. synthesized 4. Although he
sometimes lost his temper, his pupils liked him___ forit. A. not so
much B. not so little C. no more D. no less 5. The criminal justice
systemisin need of _ reform to prevent more people being
wrongly imprisoned. A. temporary B. hasty C. immediate D. urgent
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